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O Hanwha Ocean

Question) O & A/0ff FeFS & Bf 7] £/offA{= window size & 5 2/0 = 0f OF 5tLf?




O Hanwha Ocean

Question) O & A/0ff FeF=S & Bf 7] £/ofA{= window size & =270l = 0f OF BtLf?
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(2) X| =" ZH ( Exponential Smoothing )

- FALARE EO| gle AlAIE HIOIHE O =5t= O EL.

- 7|= Ofo|C|of) Ol ol 5= floli M=, 2l & 2 E L =2 440] S 25|LCt.
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(2) X| =" ZH ( Exponential Smoothing )

- FALARE EO| gle AlAIE HIOIHE O =5t= O EL.
- 7|= Ofo|C|of) Ol ol 5= floli M=, 2l & 2 E L =2 440] S 25|LCt.

- O|A])2023.427| A 0= S 2I8HA,

oj2f 052 £I5H, 22 2ol Of &2 FFSA S 2 0]t
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Assessment  Grade (%) Weight (%) Product

Assignment 01

Assignment 02 55 10 550 i Product = Grade * Weight
Practical Exam 60 30 1800

Theory Exam 74 50 3700

M| = Sum = Sum of Products

Weighted Average

Sum of Products 6650
= eeee—— — 66.5

Total Weight 100

Weighted Average =

https://cdn.educba.com/academy/wp-content/uploads/2019/11/Weighted-Average-in-Excel.jpg
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(1 _a)zyT—Z + R
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(2) X|=dEEH ( Exponential Smoothing ) 0< <] :"Heoj7ieHs

gT+1|T —'+a 1 —oz)|yT 1 +Oz(1 —a)Q‘yT_2+...,

T+1 A|&Q O|EZF TA|Ao =7 T-1 A| & o] =7k T2 A| & O] Tp=7H

_I
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Question) 5 X[ gtOff & &2 7fS A& F0J3[C]H o £ 7/ 7/0f £ 01 0f 2t




O Hanwha Ocean

Question) 5 X[ gtOff & &2 7fS A& F0J3[C]H o £ 7|7/ 0l £ 01 OF 2t




o HEH0f| IHE Of

=70
—1 HA—

| X+0l

yr
Yr-1

Yyr—2
yr-3
Yr—4
Yyr—s5

a=0.2

0.2000
0.1600
0.1280
0.1024
0.0819
0.0655

a=04

0.4000
0.2400
0.1440
0.0864
0.0518

0.0311

O Hanwha Ocean

a=0.6

0.6000
0.2400
0.0960
0.0384
0.0154
0.0061

a=0.8

0.8000
0.1600
0.0320
0.0064
0.0013
0.0003
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HO|E 2MS 98t 7| EH 1S (: ) Hanwha Ocean

8. H|O|& AlZ=t

HIOIE Al Z=te] 3 F

S| A E 13 (Histogram)
M T2 Z (Line Plot)
A & (Scatter Plot)
OFCH 2 I (Bar plot)

A 18l (Box plot)
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fl0lEf 2412 9iet 7|% £ 2] () Hanwha Ocean

8. HIO|H AlZtZ}

Student Score Histogram

0%-30% 31%-40% 41% -50% S51%-600% 61%-70% 71%-80% 81%-100%

HIOIE Al Z=te] 3 F

11
10

S| A E 17 (Histogram)

x

~

- EF(count) 22X E B2 LIEIH A

Number of students
N -~ - W on

—

Percentage score

https://www.tibco.com/sites/tibco/files/media_entity/2022-01/histogram-example2.png
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8. H|O|E| AlZ=}

HIOIE Al Z=te] 3 F

S| A E 17 (Histogram)
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https://cdn.imweb.me/upload/S202101041a4e45576971e/816736388e56d.png
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8. H|O|& AlZ=t

HIOIE Al Z=te] 3 F

ﬂ 1 EH vy (Li ne Plot) MSFT - Microsoft Corporation Compare to Technicals

[
AAL OB A B FRAS D

High 310.4400
Low 306.6002

Close 308.3500
Volume  15.44M

% -0.57

https://www.stockmarketeye.com/wp-content/uploads/2014/09/StockMarketEye-Stock-Chart-Line-Graph.png
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8. H|O|& AlZ=t

HIOIE Al Z=te] 3 F

M e I (Line Plot)
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https://www.stockmarketeye.com/wp-content/uploads/2014/09/StockMarketEye-Stock-Chart-Line-Graph.png

GIO|E BME 93t 7|% EH 18 (: ) Hanwha Ocean

8. H|O|& AlZ=t

H|O|E| Al Zfele| &7
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https://www.mathsisfun.com/data/images/scatter-ice-creamla.svg
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8. H|O|& AlZ=t

SHHE MM 2o
e =< T o= O WL
OOl Al Z=te| S/ F7tvs. 7|2 MH
10021
AHE & (Scatter Plot) =
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https://statisticsplaybook.tistory.com/18

hitps://support.minitab.com/ko-kr/minitab/21/med ated-contenty atterplot simople example.png



https://support.minitab.com/ko-kr/minitab/21/media/generated-content/images/scatterplot_simple_example.png
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8. 0| e A|Z3}

HIOIE AlZ=te] F
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8. LIOIH AlZf=t
HIOIE Al Z=te] 3 F

atCH 2 = (Bar plot)

ofo|yl 2= A7S0| 135 H2 A oF3i0|Y| Bt ALS0| 1IECHQUS 3 B
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8. 0| e A|Z3}

HIOIE Al Z=te] 3 F

. L 4
*ol-xl- j-Enl (BOX Plot) * Outliers
3 — “Maximum”

A2 919 B AFBBHO] Al Ztetst 1Y
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4 —
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4 —
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— s

https://heytech.tistory.com/
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8. HIO|H AlZtZ}

HIOIE Al Z=te] 3 F

X 28 (Box Plot)
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httos://t.daumedn net/cfile/tistory/99F4E1435C49CR7R3I
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https://t1.daumcdn.net/cfile/tistory/99E4E1435C49CB7B39
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G| Of E O Hanwha Ocean

1| 0| E{ (Big Data) AICH
- H|0o|E{(Data)2| H+ 22t SFOA 1O E =7} 2l (Big)oh K| L

- Ol A]) H|O| =, O|O|X|, HIAE | O|H
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GO E O Hanwha Ocean

=Ml (Trend)
A2 (Seasonality)

Z£FX} ( Residual )




GIO|E| M2 Q3 7| X EH 18 () Hanwha Ocean

8. O|O|E{ A|Zt=}

S|AE ™ (Histogram)
M 2= (Line Plot)
A & (Scatter Plot)

SO 1 2H = (Bar plot)

At 18l (Box plot)
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